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Agricultural Engineering (Paper-IV)
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(Only for Agriculture Part-I)
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(ii) 5% =T 1 98 fabediiar oo 81 9o S 2 ¥ 6 dp v 3o we &1 v
R 7 ¥ 11 b 3l oY I T &, Fo Ui W b7 ST oI 40 W
4 ferfaw| o T 12 9 14 9% oy 3T 9 &, 5 e v @1 SR
CHTHT 150 el # fiRae| e | 15 § 17 do fovgd 3990 wed &, o
Y &1 3T GRTHAT 300 TTET & i ferRaw|

(iii) Tt e & fere FefRa 3id 370 vy sifed &

Note : (i) There are in all 17 questions in this question paper. All questions are
compulsory.

(ii) Question No. 1 is multiple choice type. Question No. 2 to 6 are definite
answer type questions. Question No. 7 to 11 are of very short answer
type questions which are to be answered in about 40 words each.
Question No. 12 to 14 are short answer type to be answered.in about

150 words each and Question No. 15 to 17 are long answer type which
are to be answered in about 300 words each.

(iii) Marks allotted to each question are mentioned against them.

§g faedia ge=
(Multiple Choice Questions)
1. $9 9 & 9 QU8 & IR A TR faded i 1 &1 e fadbew 3ot R gikeesr
forfae-

(®) erdl el | e Bl Ffeid gl &- 1
(i) 2.2-4.3% : (i) 1-2%
(i) 5.5-6% (iv) 6-6.9%
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() 9If<h ST B BT G 2- 1

(i) TaOx (i) s/
(i) Topam T BRi/aHT (iv) T/

() STTTaT T X U fhaeT 31feIdhdH TeRTs I 35T ST HhdT &- 1
(i) 1200 Hex (i) 500 e
(i) 300 Hex (iv) 600 Hex

() o e & Tast 3iftres o118 o 3awadmar axdl 8- 1
(i) T (i) T
(i) 3] (iv) Wex

() 99 PHSIR U2 8BId & - 1
() TS B UL (iiy foRfirer o ug
(iii) gd b Ug (iv) Y65 & Ug

Four options are given in each part of this question. Write correct option in your
answer sheet.
(a) Percentage of carbon in cast iron is-

(i) 2.2-4.3% (i) 1-2%
@iy#=5-5-6% (iv) 6-6.9%
(b) Formula for calculating power is-
(i) ForcexDistance (ii) Force/Distance
(iii) Work done/Time (iv) Distance/Time
(c) From which maximum depth water can be lifted by a submersible pump-
@)aes 1200 -metek (i) 500 meter
(iii) 300 meter (iv) 600 meter
(d) Which crop requires the most weeding and hoeing -
* (i) Wheat (ii) Sugarcane
(iii) Potato (iv) Pea
(e) The weakest belts are -
(i) Leather belts (ii) Canvas belts
(iii) Cotton belts (iv) Rubber belts
RTa swlm ug=
(Definite Answer Type Questions)
2. f&a &1 eies fobae e 82 1
Which is the melting point of Tin?
3. & & ad & Fmior d uges 89 arell aws! &1 A faRed| 1

Write the name of the wood used in making beam of plough.
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BN Tt o1 Reera Ao o o) ST fo5dr S aret 3ua=oT &1 T el | 1

Write the name of equipment used to measure the Draft of Agricultural
implements.
SISTcT $ot BT BRIYH 3FUTd fbeT &Il 82 1
What is the compression ratio of diesel engine?
o T fohe=l TERTS ¥ U 36 o fordr wan fosan S &9 1
From which depth is a chain pump used to lift water?

aifcr e7g 3T oA

(Very Short Answer Type Questions)

frferRaa & fosam ufcrera e grar &7 2
(i) gerdl oirel (i) §gF¥T
(iii) T B b S (iv) 3 Ble- 5T
What is the percentage of carbon in the following?
(i) Cast iron (i) Mild or low carbon steel
(iii) Medium carbon steel (iv) High carbon steel
g1 # alfcrst govra i f&an i €2 2
Why is a horizontal suction given in the plough?
BR I TexT 8 g9 & fordd a1 fbar Sim? 2
What will be done to make a deep furrow from share?
T 20 I TSt $5 Hie arell Hics &S &6 3 25 JH! eI JdTs B! ol afe YH 31
gferRYer 0.33 fob. 7m. wfer T €1 31k et o Tmet 2.5 o5, 7. wfr "oer & o & Wigd & o’
NITISH 31¥T ITh B TUHT B 2
A mold board plough that cuts a 20 cm wide furrow needs to plough 25 cm
deep. If the soil resistance is 0.33 kg per cm and the speed of the oxen is 2.5
Km/hr, calculate the horse power required to pull the plough.
U of RimE | 89 a1 P A1 &1 T4 & & g5 2
Mention any two advantages and two disadvantages of well irrigation.
e IR T2
(Short Answer Type Questions)
S5 & TH 89 & JUT HRUT & Tohd &7° 9 WRIE! Pl FRIIR0T {69 TR B2 4
What can be the reasons of heating of engine? How will you fix this problem.
TS BT ScTs & T 19 &2 fhd TPR @l Mgl § U Blet= Jcls ol 3Taeddhl
Tl 8? 4
What are the benefits of Hot weather ploughing? In which types of soils is Hot
weather ploughing not required?
312[d1/OR
feiios yuReexor & Fon o aftaferd € 3o Hifse|

What works are included in secondary tillage? Mention.
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14. U 15 9.9, =9 drett ol f5a! aer 1200 Tawx ufd e &, v ue gRT gasl iRy
I I 21 afE TR okl Y Tet 15 TbR Wier Aebus B Al ITebT AT Hiex ¥ gargd|
4

A pulley whose speed is 1200 revolutions per second and diameter is 15 cm,
moves another pulley by a belt. If the speed of the second pulley is 15 revolu-

tion per second, then tell the diameter in meter.
QX IR e
(Long Answer Type Questions)
15. g G 9§51 &R B T0FT 7B TBR B ST 2? TR & g 6
How the calibration of seed Drill is done? Explain in detail.
3AYdi/OR
PeeIdex & fafi Bt ol folRed | daex arfera Reit o6 deciae @ ot & werar 3
=T DifoTd |

Write different functions of cultivators. Explain Tractor drawn spring loaded

cultivator with the help of diagram.

16. UG I gcT-ael HIes a1s &l foIaT s $s 30 9 et 31k 20 T, M= 2, 5 6. 4.
yfc Gue I aTe A Sars B & &) gff o1 ufeRier 0.40 . 7m. e anf 9.4, 21 g
ot REaa qen &a Wios & o) 31a%ad 3124 2fh siid ditstd| 6
A three Plough Bottom moldboard plough, each furrow being 30 cm wide and
20 cm deep, is ploughing at a speed of 5 km/hr. The soil resistance is 0.40 kg

per square cm. Find the total draft of the plough and horsepower required to

pull it.

372191/ OR
SRR & Raamg & $9 Aud 22 Rade R I99 26 a6 R & R 3
TS|

How the draft is measured from dynamometer? Explain in detail the factors
affecting draft of Plough.
17. U fbe JBR & 81 2° T BT IR & JoiH BHifsr | 6

How many types of wells are there? Describe each in detail.

k %k %k % %k
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